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A bathroom is different; for there is much filth there

OVERVIEW

The X773 explained that when X7X 27 said that one may daven in a bathhouse
he was referring to new bathhouse that was never used; it was merely
designated as a yrin. The X3 challenges this ruling by citing an unresolved
query by X127 whether an unused designated bathroom is considered a n°2
X021 or not, and presumably the same query should apply to a designated
vr7n. The X7n3 answered that the query is limited only to a X037 n°2 since it
1s disgusting, but not to a y7117n in which one may daven if it was never used.
Moo reconciles our X3 with a seemingly contradictory &723.

nvoIn asks:
— 09 (x,0 91 09737 RNIAP P99 9101 NN

It is astounding! For in (the end of) the first P92 of 23971 noon, the text

reads -
— 79 N\NIIN 2D 199N NDON 122D 199N ’N3%29 9y
X927 queried; if he designated a place for a 80277 n2, or he designated a
place for a yra» what is its status; is it considered a 0"577°2 or a yn», or not?
— 119 59251 593 XN NN
It is evident from that X713 that X1°27 posed his query by a ynan as well,

how can our X 1 answer that the query of X127 as only regarding a 9">73°2 and not a
yrn?!

mdoIN comments:
— NINT 79D OIYN 09901 110 OV IMIN PPMNIY v

And there are those who erase the query regarding a yri7n from the texts

there in 2171 because of this X ) here which indicates that there is no query
regarding a yrn.

NN reconciles the two NMNA:
— NY9)N v ﬂ”‘pb VI NN

" In our X3 the text reads ©Xn7 (not X»m w037). It would seem that regarding an unused designated
0"2i1°2 one may assume that it is 0°X», but not that it is X277 91 since it was never used.

% This should be amended to read X,7 (and therefore the word '1102' should be omitted)

? The same X127 which the X7 cites here (presumably regarding a 0"2:°2 [only])
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However it is possible to sustain the texts there in 071 (that the query was

also regarding a ynn), -
— NDON 171219 7Y NUIWAIN NIT 9991 99 INY INID NWITIQ %91 NI

And this is the explanation here in our X723; the X723 asked, ‘isn’t it so

that just as the query regarding a ©''>77°2 was not resolved -
—*\N91n M 1YY RVIYWIIN KY 9133 %99

So too did X127 not resolve the query regarding a ym% n%2’, so how can 11

X7X rule that one may daven in a Yy -
— 190 RVIWOIN KD 29N 1997 WIDNT NDIN 172 SINY %)W)

And the X answered, a 9">72 is different from a yran for it is wsp2

it therefore 1017 did not resolve his query regarding a "2 -
— NLVYA 971 NI¥AT 93 NN YaN

However regarding a yna» (which is not 727 ¥°51) we may assume that

after X127 posed his query he resolved it that merely designating it for a ynn
does not give it the status of a yr7n (and therefore one may daven there).

Mmoo offers an alternate solution to resolve the contradiction:
— SN)’:ﬂ 92919 13O \NINN 5% 129011 9193 ON

Or you may also say that the words (in 0°773) of Y927 naab 11917 are not
part of s'N1°939 query -

SN P99 Y 19 *HYNY NEYY 139RY DI01T NIN D7YH NIN
But rather the 8923 concluded and added this additional query, for the X313
there did not see to differentiate between a yr7» and a 0">77°2; and this is
found in many places that the X123 on its own adds to the words of an XMnX.

SUMMARY
The query of X1°27 regarding a ©0">7°2 was not resolved however the query
regarding a Y171 was resolved that it does not have the status of a yrn.

THINKING IT OVER
1. The &3 initially assumed that the query of yr7n was not resolved just as
the query of ©">°2 was not resolved. The X723 concludes that the query of

* When the xn3 asked yra 177 X371 %Y it did not mean that presumably there was a query for yris as well
(and the answer is that there never was a query for yran), but rather the question was (on the words &
XpwoR that is mentioned immediately before 2 R?) that just as the query regarding a 0">7°2 was >
Xpwo R similarly the query regarding a ynin was also X0 woR X?. See ‘Thinking it over” # 1.

> According to this answer X1°21 never posed a query regarding y1» as '0)n initially understood the X3,

% See “Thinking it over’ # 2.
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yrm was resolved.” Why did the X3 initially assume that the query of
0">7°2 was certainly not resolved and presumably the query of Y171 was also
not resolved; for in the X3 in 2771 both queries are equally left
unresolved? (And if the reason we assume that 0"2>7°2 was certainly
unresolved because XX 27 only permitted davening in a yrin then why did
the X3 assume that yin was unresolved as well.)®

2. mv01n second answer was that the query regarding yri7n was posed by the
X713 (and not ®117).” Why then did the queries remain unresolved since 27
X7X ruled that one may daven in a ynn and the X713 maintains that there is
no difference between a v and a 0"577°2? And if we can assume that the
X713 argues with XX 29, then we can just as easily assume that XX 27 argues
with X1°27 and there is no need for any answer!'’

7 See footnote # 4.

8 See v">an 0 and YT nv.
? See footnote # 6

10 See v"mn n.
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